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The imperfect (/an) is one of the lakaras or tense-
moods in Sanskrit. It is the past tense of the present
system. lts mood is indicative, so it is usually used to
refer to actions that actually did take place (or are
described as having taken place).
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There are two other finite past tenses in Sanskrit — the
aorist (/un) and the perfect (/i) — and Panini has
distinguished them in terms of remoteness from the
time of utterance, but nobody really uses them that way.
For all intents and purposes they are synonymous.
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The imperfect is part of the present system, so it is

formed with the present stem. What distinguishes it
from the present tense is:

#  the use of a prefix a- before the verb (but

after any preverbs);

# the use of a distinct (but related) set of verbal endings.
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a + Dbhava + t

past tense present stem inflectional
augment ending
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ENDINGS
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Here are the primary endings (those used in the
present tense):

sg. du. pl. sg. du. pl.

i -tah nti S &te -nté

3rd

ond -Si -thah -tha ond  -S@ -ethé  -dhve

1 -mi -vah -mah 1 -é -vahé -mahé

atmanépadam "a@i ”
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The secondary endings are similar but generally
shorter (without a final -/ or -h):

sg. du. pl. sg. du. pl.
3" -1 -tam -N 3" -ta -etam -nta
ond -h tam -ta ond — -thah -eétham  -dhvam
1 -m -va -ma 1 -l -vahi -mabhi

parasmaipadém atmanépadam "g@: []
Q
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ENDINGS

3rd

2nd

1st

parasmaipadam
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du.
¥ -6té
2 .se  -6thé -dhvé

1St _e

atmanépadam "g@i”
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du. pl.

3" atam e

2" -thah ' -etham -dhvam

1 -é -vahi

atmanépadam "g@i”
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PARADIGMS

Imperfect indicative (<) of V¥ “become” (1 class):
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sg. du. pl.

S

abhavat abhavatam abhavan
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abhavah abhavatam abhavata

st , , _ , _
1 abhavam abhavava abhavama

parasmaipadam " g@i "
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PARADIGMS
Imperfect indicative (@<) of VAT “think” (4™ class):

sg.

amanyata

amanyathah

amanye

du.

amanyetam

amanyéetham

amanyavahi

atmanépadam

pl.

amanyanta

amanyadhvam

amanyamabhi
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Exactly parallel to the present indicative, but referring to

2 755:

past time. The forms made from the class-based

¥t I L woiee Al Rt ST, i
0 1 | o= i 1 E
(- J A= K i ) 1 At
[ o WO ROZE & N
. 2 7 [ S A 7ol |
TN\ Al SANY Y\
\) Y 3N e ot el
X i/ E SN EEE
AN & /41 A 0

2 Lt b e Il A dssadd g A0 - o
A - ".
gj‘k- 13> !
3 Y - A ——

G N ::A"'-q/" &

N fi o)) &5 i (2. )
X L Nl S (o \J Tt 4
L SRl S BNt
man s et :

present stem (first class, fourth class, etc.) are active.

&l - F: c d

“He speaks to her.”
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Exactly parallel to the present indicative, but referring to

2 755:

past time. The forms made from the class-based

¥t I L woiee Al Rt ST, i
0 1 | o= i 1 E
(- J A= K i ) 1 At
[ o WO ROZE & N
. 2 7 [ S A 7ol |
TN\ Al SANY Y\
\) Y 3N e ot el
X i/ E SN EEE
AN & /41 A 0

2 Lt b e Il A dssadd g A0 - o
A - ".
gj‘k- 13> !
3 Y - A ——

G N ::A"'-q/" &

N fi o)) &5 i (2. )
X L Nl S (o \J Tt 4
L SRl S BNt
man s et :

present stem (first class, fourth class, etc.) are active.

Adad = H: - di¥y -

“He spoke to her.”
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